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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - V (NEW) « EXAMINATION — SUMMER - 2018

Subject Code: 3350902 Date: 01-May-2018
Subject Name: Energy Conservation & Audit
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:
1.  Attempt all questions.
Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.
Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.
English version is authentic.
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Q1 Answer any seven out of ten. £2H{l SlEURL Ulctoll allot B,
Define energy conservation & energy management.
Gosl AAA Wl Gl cglae ofl catvaul wl.
Explain need of energy conservation.

Gosl AuAeAl 332l UL

State disadvantages of magnetic ballast choke.
N2y A2 Asall AR SLAEL Rl

Write merits of CFL.

CFL oll SLAERA AWl

Define term interest and state types of interest.

(% UEo{l calluall Ul W cllogell YsLR ULl
State advantages of combined cycle power plant.
SIB0S ABSE ULAR Wllodoll SIAERA %R,
Define load factor and maximum demand.

AS &52 ol HeH Slilosellcautul cul.
Explain term return of investment

Y3l Aseell aull ue yuenal.

Explain two part tariff.

2 e 23ls Al

Write disadvantages of low power factor.

WO ULAR §52R0ll AR SLAERA AV
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Q.2 Explain principles of energy management.
a2 (U) Aot ANezell Rgicdl AHstAl
OR
(8  Explain scope of energy conservations in agriculture sector.

@) s sl Aot Auusll sl esauel.

(b)  Describe different approaches of energy managements
(@)  Gosl adlaestl [AlQw (ol wudl.

OR
(b)  Explain method of energy conservations in electric furnace and oven.
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() BAsEls ga12l u lcloti Wotas] AA{l A A 03

(c) Define power factor and explain causes of low power factor. 04
(5)  UlaR %522 UEo(lcauivall Aull el AL UlaR 520l S1R01 AHslAl. 0¥
OR
(c) State and explain steps for improving efficiency of motor. 04
(5)  HeRell A2l YurRal Hizetl Uolell dvll ol AHLA. 0¥

(d)  Three phase 440 V, 50 Hz, 500 HP induction motor is operated on full load at 04
0.8 lagging power factor. The full load efficiency of motor is 80 %. With help
of delta connected capacitor bank the power factor of motor improves from
0.8 to 0.95 lagging. Find rating of capacitor by considering constant KW of
load.

(s) ¢l 82 440 V, 50 Hz, 500 HP 552t Hl2? $c AlS UR 0.8 0¥
QofldotuterR 3522 UR alure A B. Heellge cls Agl{liA 80 %
8. Scelul A3t 3U{le: dsoll Heedll Weq] waR ¥s22 0.8 Hidl
0.95 A2(loL sclle] ©. Al ASell KW HJUN & & ad ullla

EREEEE TR RENOE
OR
(d) Compare static capacitor with synchronous motor with reference to power 04
factor improvement.
(S)  WAR 3522 YRR AciuHi R8s 3U{le? ua Al WeRell 0¥
AuLHR(s3.
Q.3 (@  Explain speed control of slip ring induction motor using chopper. 03
ysl.3 () AUR usleall Gualol s3la e{lulol Bossalet 2Rl 2Uls $2\c 03
Ul
OR
(@  Explain importance of energy audit in energy conservation technique. 03
@) ActTRAUUL Aot wSleo] Hecel AHsLAl. 03
(b)  State the procedure to carry out energy audit of three phase induction motor. 03
() Yl 38 Bos52et H2RellAA%] A Sleall Uugld UHestal. 03
OR
(b)  Explain following terms related to illumination 03
1. luminous flux 2. lllumination 3.color rendering index
() st AA AstUAA ol Aotl UEL AU, 03
0% @RJMeld $e5U 02 BRJMAAA 03 5ER WSO Bodat
(c) Explain combined cycle power plant with line diagram. 04
(8) CUSal SlRAAAUH A 518eS UBSH UL Wlloe AHLA. (0).1
OR
(c)  Explain how restructuring of tariff helps in improving energy conservation. 04
(5) 2350} Yotoloal Hcll A Aot AUUHL HEE 5 D A AU, 0¥
(d) Explain remedies for reducing transmission losses. 04
(5) 2ot A YaLsallell Uil UMl 0¥
OR
(d) Compare separate generation of electricity and heat with co-generation with 04
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reference to efficiency.

A glllaill ot el sAs{ERAA Glatl wedLell Geulestodl s1-
oo2lot WA AuUHE( 53

State the method of economic analysis and explain pay- back period.

AEls Qrxanuell 3l dwl ua U As YZlas uHstAl.

OR
What is energy audit? State element of energy audit.

Aol Blgle A2 9 ? WalT Blslaail WA ULl
State and explain various cost of project.
YIS seatlof el el WU wRUA el UM

OR
Explain diminishing value method for determining depreciation.

dULRL olssl sclloll tedl sIHAsll Il uresal.

Initial cost of an equipment is Rs. 4,00,000 and its salvage value is Rs. 40,000
after useful life of 20 year. Calculate annual depreciation charge by (1)
straight line method and (2) sinking fund method. Consider cumulative
interest is 8 % for sinking fund method.

As sslluted(l gollallact 512 3. 400000 B wA Aoll elour (Bud 3.

40000 B. Adj GUAL( wywe 20 ad B. Al 04. wecdat Il
U 0. Aot §50ll el cwlls SYlR1AA U . AlosloL
g5oll Il HIZ 8 %oll Usq(& Uy oAU Ag.

Compare preliminary energy audit with detailed energy audit.
ylals vsle wal (At wSleell uuumell 3.
State advantages and constraints of co-generation plant.
§l-olR2lotoll SlAEBM A Yl suuLdl.

Explain elements of energy management.

Aot Ao No2all NGt clecll UM

Explain how energy conservations is done by use of variable speed drive.
Gosloll AuA AAnA s sl 3cll A awa B A uxesAl.

*khkkkkkhkkikhkkkikx

3/3

021

03
03

03
03
04
(0} 1

04
(0} 1
07

09

04
(0} 1
04
(0} 1
03
03
03
03



